
202092 - LRS 400

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

1 of 3 12/2/2020, 5:25 PM



Pos Part No. Description Quantity Price each
Excl VAT

Price
incl VAT

Currency

1 493044 Motor 1 $211.68 USD

2 630103 Motor cover 1 $44.98 USD

3 491615 Lamella (5 Set) 1 $13.69 USD

4 491593 Rotor 1 $30.51 USD

5 466969 Shaft 1 $39.69 USD

6 466338 Woodruff key 1 $0.91 USD

7 704785 O-ring 1 $5.09 USD

8 773627 Sleeve 2 $0.91 USD

9 720418 Bush 1 $44.48 USD

10 704788 O-ring 1 $2.52 USD

11 630109 Housing cover 1 $41.36 USD

12 228567 Raised-head screw 4,0 x 20 mm 8 $0.91 USD

13 491416 Cap 1 $6.64 USD

14 462876 Weight 1 $10.08 USD

15 709392 Switch lever 1 $3.15 USD

16 200904 O-ring 1 $1.01 USD

17 720602 Washer 1 $1.58 USD

18 462877 Switch linkage 1 $0.95 USD

21 228713 Raised-head screw 4,0 x 16 mm 4 $0.91 USD

22 493623 Grip 1 $16.38 USD

23 720617 Transparency 1 $0.95 USD

24 491566 Housing 1 $41.83 USD

25 720246 Sealing ring 1 $1.28 USD

26 464276 Spacer piece 1 $1.26 USD

27 228733 Raised-head screw M4 x 10 8 $0.91 USD

28 487554 Grip 1 $3.78 USD

29 464278 Housing 1 $64.70 USD

30 464500 Extractor connector 1 $1.88 USD

31 228582 Raised-head screw M4 x 10 2 $0.91 USD

32 449396 Pipe 1 $7.08 USD

33 449556 Piston 2 $1.49 USD

34 704786 O-ring 2 $2.85 USD

35 410290 Ball 1 $3.78 USD

36 463317 Pressure spring 1 $0.91 USD

37 10014022 Hose 1 $2.52 USD

38 10014028 Compressed air tube 1 $16.68 USD

39 203270 Snap ring 1 $0.91 USD

40 704784 O-ring 2 $0.91 USD

41 450920 Cover plug 1 $0.91 USD

42 228584 Raised-head screw 3,5 x 14 mm 2 $0.91 USD

43 782082 Nilos ring 1 $3.39 USD

44 464277 Cam 1 $21.13 USD

45 203271 Feather key 1 $0.91 USD

46 447239 Ball bearing 1 $34.02 USD

47 205614 Snap ring 1 $0.95 USD

48 492047 Rubber foot 4 $10.76 USD

49 464285 Plate 1 $93.77 USD

50 204120 Flat head screw M5 x 8 1 $0.91 USD

51 435291 Cap 1 $0.95 USD

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

2 of 3 12/2/2020, 5:25 PM



52 464279 Counter balance 1 $29.36 USD

53 400606 Raised-head screw M4 x 10 8 $0.91 USD

54 --- See catalogue 1

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

3 of 3 12/2/2020, 5:25 PM


